
Total nttntber of Pages-12

32T MBEN

20.22
BENGALI

(MODERN INDIAN LANGUAGE)

(NEW & Old couRSE)

Full Marks: 100

Pass Marks : 30

Time : Three hours

The fiwres in the margirt indicate lull marks

for the questions.

GROUP-A (NEW COURSE)
Page Nos. 2 - 6 Q. Nos' 1 - L1

GROUP-B (OLD COURSE)
Page Nos. 7 - 11 Q. Nos. 1- - 1'1

C-ontd.

NEW COURSE

Q. No. 7 carria 7 m.ark eat'lr

Q, No, 2 caries 7 mark etch

Q. No. 3 carries 2 marks each

Q. No. 4 canies 3 matks eaclt

Q, No. 5 canies 3 flarks each

Q. No 6 caries 3 ma*s each

Q, No, 7 (4+b) carries 4 merks each

Q. No. 8 (a+D) caties 9 matks

Q.. No. 9 cames lhe folloutitg ma*s
(a)

(o)

Q. No. 70 cories the follaoing marks
(a)

@)
, (c)

(d)

Q. No. 77 caries 70 marks

7+'l=2
1x10=10

2+21
3+3=6

3xb12
9\3=9
4x2=8
4+5-9

1rFs
1x5-5

I x4=4

2x4=E
3x24
1+l=2

1x10=10

Total = 100

OLD COURSE

Q. No. 7 caties 7 mark eadt

Q. No. 2 uries 1 nark each

Q. No. 3 caries 2 uarks each

Q. No. 4 carries 3 marks eodr

Q. No. 5 carriu 3 ua*s each

Q. No. 5 carties 4 marl's cach

Q. No. 7 (4+b) cttrries 9 muks

Q. No. E (a+b) urries 9 tnatk

Q. No. 9 .ialrics the Jollouting ma*s

@
(b)

(c)

(d)

(e)

Q. No. 70 cnries 75 ,nfltks

Q. No. 
-17 carties 70 iiq*s

1+1=2

1x8=8
2+Z=4

3x3=9
3x2--6

4x2"8
4+5-9
4+5-9

'Lx4=4

2x34
1x4=4
2x2=4

1+1-z
1x15=15
1x10=10

Total = 100



GROUP-A

( For New Course I

) I sld C4(?fi 3 )+5=1

(s) gIffi q<mx{Gr

({) 6'm.\fl<& q<q/cri&

t I q& c'iftg €s{ q1s B yx>o=)o

(s) 'c{qrc{ gfu qe cr<mr 6stq..q'- ffi qG,sac\o ff cqrqnr

({) tty<!{'sffiE strs $ {rst(;I qil qRR?

(5i) Tfr-{sF'+ffi cotq sl<ld@( srq:fur

(!) aa;r {to "fEl csfcT{ crqr+qE T6p

(s) 'mR'<E'(E ft mtr<{r

(u) sts+t fir
(RJ +frZu W.ru a16rcr< am fiz

(q) "mfri.!{fr qst qaqFrc ....................Etrd.r,, (Wzn,ff oHt)

(1) TE c1-({ q<E x<-or< otqx ftmt e<i alc<<.n qR'qq ITlfi erfir {drr{k{{
stfr'q erw orrcqz

e I q((s-c"t c4(t[ : \+i.=8

(T) 'ffi{ qpt w6fi-{s ,sE c-sr{ qgi Rqr" - q{tn $t-r sell Tfl qmRr
q-4fu'.tcqr={ qdfir
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("t) '?{ qd !I ;rfr" - ot< Efue ?*' e :rft'<-qcs ft 6$RII?

e r. ftst 64c.fl :

(+) qffi waqls6sl-{qlir ffi{eg

("t) fucr'dt w<el{qt,,{\d ffi

9+9=V

c l cs :qt4s u'frft ef'cf{ EtI< qls ' sx8=)\

(s) {{'qa-{ ffit ffrr* <x+ ffiz 6€{ sBIt m crq <mcs "ffrrfil

(q) Fr<Ttrr<-rs Tssrfl wfil'<-dl N ffi?

(ri) qli{q fi-sfm qa c+ct qa'q< q*t

(s) tsrcdrrm cq.lsrqr$llqff cfrBl<ir<R-q-{s q<r daG@l{alr{&fi
fi omR-daz

(s) 'ffi <mrB c{'?ns E{s<tBI" - {er <IEdfu <61 nts I

s r R catqe lffi era< Ee-< qte 3 exe=b

($) "F'r{ sq qlRq< s{frq qtq{" - 6s <FlT c-{r6 q <ic[ <GF? {g]fr{
erlv uef fir

(q) 'ftrtN qTlr

cc alqi {fl{a - ra tfumrt"

- fifu1d4P51p6311

(rt) 't-qFm'+ffipEffis rq tr@Fnfr csrxftrordlr ffic?fil

(q) 1KR +rq ff <rrqt
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q I €s< q't\e c 8 x \=tr

(o) {C ffilQs R crtmt n6qrlr{t{ }r"arf ffi c{c?it r

wqkl

IFm<tq F'mr fr cqnK qr+qls <m xq {l ? csl{Rt OEr<< q"rcs lfu qt'* 
r

(?r) q<Gr< c$'td ry:rsc$ tscTK-sm sil Es z eQ r<,.cr{ qETftTr tscnq +r<

ffi19p6 cdrc{tr

'ffiszEftqsit, qly[qrr{-Gltq e frq-{-sl< q(qls" f$c-fB-+.f6E< qq]g-q

?<fiB -- qfrdlu-tr smtt

tr | {eFlE <Illll S-6il1 s S*G:b

(o) cre-ft;s qq cqft <lFR-o nftes t

ffiq €q mril orfi?s cqRno rt

cqnn 6fr-e cqR {fifu vn
q tr 6TC?t CTR ;l-S Cq{\9=t fr'sT r r

qq/vf

" qlTt<l ffi<\eT{ all-6 Yfr <tt{ xRN {ns't 'fu{t
ffi csm< ft-<K q{tBr $-{tti qffr t

(?r) 'tq&.+{ qq €$ ffiq, ceff E?G*mr esF Atr$s "lcq 
{E e<( ffi

"5r,{fu qrEtu-{t sR$ qM qTfl qffit"

wem

"BE <rq ErERa ssE];[ ! \e-fl"nI{ ! stEl-{ r lie cra Bffiat ssKf{€

+tcfl{& fux wn c{{ -rfr I ssfrf{ ! Eifqfi t"
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b I $-qvi s {-q({ (alGF qo/ro-c erct< €'e'{ q\e : c+c=)o

(6) ''qEqlLT< "r aEe' qqfi< rfl<n{frcq< v-rffi' 1frTE 6L<Ir

wfi/

'<qelril'$RsE Tfi< \mv-ql, fluar< omq Girfi +r-<t I

(rr) "ffi<l 6r# 6EKlt <e <id ql{dl € l9rl5-r{ "KMq atfi altr-d I

ft{"l'<,'r€R ftq-+ e^c lvlvcir{ qes qts c{dqd l" - cq"lrs< '{
reisFi kd{q TLTI t

wqtr/

'ffi qcqrs. s1-{ sl(qTld{ qc-q{" 'f,4<fi< mT'51-q q{an6 <rs.iF<

cslEl frqqq +(3it

:o t Frcq+l q.Infr< €6< trI€ s

(o) firua cq m'l4e Dkf a<M-eKE(T{qef cEr'fl 3 5x8=8

uRoe a ckT{m, Rrg q< ftr qr, atl{ 1&rq 6.{lqr ft qsH, <g qE'fi

" TSf ctiFt, (T.Hrn cvr-fs qqfui qds' m +rqfrsr fiqt m sr{Gs{t

. ({) fr.c53 cq @1qe rrE <1frfi< qq1'\e qfsl-<udt sml s Q'x8=E

\xlqrrq< rrm TTf{, \olffi-< s-<, qrf< f,{, srflefu c{al, '<l-{+lRft,

Q{<<El

(rl) firuT cs @lqs &a8r <rfq<r<"rcCq"qF fi'fu $t-<l ; exi=s

q+-,,rq, qR{ir, qfiq-dt. ,rE<g, frq+6 r

({) frt5{ cq @lqe ffr ..rcq< 6F +r* aG-rq cqrq " >+5=t'

q\5{, sl-{l, c{s, IItBl I

32TMBEN tsl Contd"



) ) I Cq CAne dffi,fr furT RD;rt Cdrc?ll 3 ) o

(o) qq-cffi qe Fm a <6flq w{Et s qw<-+r

({) csmr{ fta tq

(rf) a{eFRBr e vtlfro ftqq

(q) c{st& Ter{EE qt
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GROUP-B

( For Ofd Course I

: I qd f,dt?n : )+)=\

(o) +t<t-wa w?l?7.r-5c{

({) EREll], wc/nr{6<

t r q& q(frQ €e-{ qls 3 :'L=b

(T) Tgtutt cqq'<'ffia cfiFo c$?

QqrEl{ "t{fiRl)

l+\=8

({) "qe o(I <v c$Eil q< rft<-omt nEl,, (T{-?? '1'{ot<t)

({) 6ffi{-{ Erd:t & rorar qoErFldq{ {l{ c6rFII I

(s) ?i-frdq[< rt5' c+ frntrel

(s) \se'tc4'ft?

(6) TMr"tclil aqn ry+r fit

(O 'Aesthetic Values''{F <l"GI qFgllfi ff?

(q) .ttffks korct< cffi cffi ?s?nm qrqfs e'c- ....'..."" """""" qctt

'e r ftot cqrrn c

(+) ut{-t q<Et c€t

(rr) exFr{ qq6166vrftr

32T MBEN 171 Conttl.



8 | cs Rtls &a7? arr* €e-< qtre : exe=b

(s) "cEK cfiff <6, fre Tqq qft sqlim rserq cnft" - nta EGr "ttbti.f
q<antrd .! Bfu omq <,lgl rcmt

(<) qfu=z.q< $d"r<iern 1R!-T qls 
I

(tt) hlsre tlm{ctl'+'lcs {ffi?

(E) 'rt qW q{qr "rcs{ csffi frLq sk sfts ffiEqt ffi 61 Rqa

fimEc+<r

c r R c<rt4v 1tB arqr Es< qN : . 9x l.=v

(T) T6tfl cqr'<qF +R ff mr+trs curscq,?

(?r) ffiK{'otrc 'rdd{r e {qr6 ftfl c{c{ |

(rt) '<rqqm {q vtfi fi1imtR'- sRqr €rn< qzs qT{ ffi rftrw ilr
6{C{l I

vt o-q$ ccfrs .aw? q<( 
"Fq(rl calr.s qFE a?{< €s< qN 3 8x\=tr

(s) {ErRl{ fisI qlilm<ff et'cuwa {$r s-GI? FNrd ng'Fls qE sf,{t I

qqE/

fi'or cc("fi z (R ceTqs ffr)
Tlrt&r TElr{l{, ffidet&"s {arr{t{, wt<it&$ {E'ir<t<

(?tl Q-<z.a< rsFr q:rsf f€.{rd{,rd {{I q{? s? <'{cffi cT{'ftTt BrH'{ TCn

?<fiBerEtBeq ec<tt
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wc&T

fi r*,ca-< FtsKJ<"{t f+-r.flF-sr?'.E< E"n:flftr UEEK{cc <fql {c<1 I

1t CSCq {tt?BI or{l s 8+c=b

(o) cqRcs '[s il Efi ry1p rirg'nrre anr

qB{t"t qtfr fr-{ cslTm sllu{ qqrtK 
I

wqk/

stcEl-{ cs wT ql6t <r{H, YEt{ >i:tK xq,

ieG "Fr<csT ffi @m r{aF{r

(q)'q<{ cflrrl d'R - culcr cs Ifr str, ct v<{T't"t<ft< r"

qcf{I

'twt"nq1{ s-sB EFF+-{I qc{ ffiqr"

8 +C=b

Contd.



wq?

'Mt 1fr' <qN cq{?F 6 6nrcw? cq.tr<xr qcg qmK q({
ffiTr "nalq fn

b I ffi.t q1ryE< 0s* q1\s s

(m) ao ffit oK fr cot;te 6t1fri qfr frrqq <rcil s )x8=8

qrfl€s, ?rffrs, \rrsrf,, (fogt, qFq+q, {rcsff<E I

({) ftD< 6q clotqe ffi TiM<rsirq q$:{ fr.fu <rcnt s Q.xe=v

frEq, +<F, dGfrq, TE<q, fr-olsGms, q-{& 
I

(5f) fr6ER 64 6ffig b17fr? ersl-{ fi.fu <r6-qT s 5x8:8

+nDq, Dm, ?qfr-s, "ivt, <t&stEl, freo t

(q) ftTr R @tqc 6E n$fQ< qqf cqr<tt r€ rts-t{E-dt o-rilt s Q,x\:8

q \St O al, Q55g elFRI, Oqcef{ ?FIX-U, Cq .lgl{ GT f

(s) ftDr 6q cqlas 6E er+m< qd cft.fi z )+5=\

{laT cs6 ffi wru, Wr< btot 1n, <-ffi Tar <lslc{:Ks, qsBr fr{ w{Et I

)o I Cq CqFre qafr Rrrr <D;lt (q({t s

(o) qrrcn-?r qlt e eBr AfuK

("r) cs.Fil-< fr{ sE

(tr) nFFPtvtEEt qqqfu frsrrq< q'n

(q) lqnm ffi
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) ) I qKt$t 6{C{l 3

Tsq et<FBr stfr-$ "tRcF 
qErffi{ ffirt qrfrfr <Gil ffi €$ oqrfuErq t uF

C{ qNpr-TI-6r3 q-$q\e qlfrffi 4R<f{( TEITf, q&, qqF s ffi< erfB &&,
eQ c{tE qn[cqn :[c<l .q"Fr\s qIcet iE I qtlg< q-{Il{J {lT{ wrq cF qE(a6-{ B{T

TRrt CFrsrcafr cqt"flr{ E0re-Cq; q< \nFm stR-$ q:Rs 1tt+fut fi4 fr{ Trfr
s frpg Vffir {Rr$ uNR$t <t {kcm q'qrd, Qqqiqr6q sRIm eKrqTI

qffil qt ffiot< $a qmftfln qfr-oq aEr qrr<t Rtrrsr vRKE drFq<

\{ffi ,q<( qmfcrr{ E@. q<rrglfr I {qfl( qRurc{r wffin qwqelm

4r5il$r I

wqkT

fr"fCq GIK Kst s.Kt ..q {6{ GRr effafu -
R"rcn qtR { mq reR w t

Sarmrc{ <ilarc Grs {R<r fts qrqil,

Esc{ R{ sRF "ttR 
qx tt

q'qr{ clm rt {fr EA frffi( <EI qt m+ [6,
qiqtmcs {&rE T&, Er&rq e1<reil

firw :rrt dt mq ffi s-{ r

)o
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